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Dimensions(mm) Impedance (Q,2turn)
Type
A B C 10MHz 25MHz 100MHz
RING9.8 9.8+0.4 49+0.4 5.1+0.5 81 105 135
RING12.5 12.2+0.3 7.6x0.4 5.4%+0.4 54 68 110
RING15 14.5+0.5 7.5+x0.4 7.0x0.4 77 123 206
RING18 18.0+0.5 11.2+0.4 6.0x0.4 70 85 120
RING18.4 18.4+0.5 11.1+£0.4 6.1x0.4 66 93 141
RING23.5 23.5%£0.6 12.6+0.5 9.4+0.6 129 160 216
RING28-10 28.0+0.6 15.4+0.5 10.0+0.5 120 160 240
RING28-13 28.0+0.6 15.4+0.5 13.0+£0.5 178 230 324
RING29 29.0+0.6 19.2+0.6 7.6+0.5 67 88 147
RING34 34.5+0.6 21.0+1.0 12.0+0.7 105 160 300
RING34.5 34.5+0.6 20.8+£0.5 12.3+£0.7 124 179 282
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